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N.B. .— () Attempt All questions.

(iz) All questions carry equal marks.

(zit)  Wrong answers of MCQs will carry negative marks.

(@) §& g HEdn
(i) TE FAA FAE O SR
(iii) SGIAT ULl TRl SUUH ROMCHE U 3R
MCQ
1. Attempt the following multiple choice questions : 10
Telel g, e deal :

@) Land reform is a part of ................. .

(@)  Agricultural price policy (b) Agricultural policy
(¢)  Agricultural cost policy (d) Agricultural marketing policy

SHA IR & oo o0 9N SR,

(@ PO HEA RO (b)  FoT EROTE

(c) Pot TE GROm=T (d) FH faquE &om=n
(7)) T is organised agricultural credit instrument.

(@) Landlord (b) Friend

(¢)  Relatives (d) Co-operative Society

P.T.O.
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................. 3 qqg{qd’ult\{ gofed Qye 3R,

@ VR ® T

(€) oS (@) FEHR e

(ziz)  State the true statement from the following :

(@)  Size of collective farming is small

(b)  Size of collective farming is large

() Size of collective farming is very small
(d) Size of collective farming is medium
Ereiaen ¥ faum am .

(@) HHEHH Q= SRR oeM STl

(b) HHSIIh VT AHR HIST STl

(c) HHEHh Tdten 3MhR AfdTg STEdl

(d) ETREIIe TdEl SRR AEaH 3Tl

@iv) NABARD was established in ............... year.
(@) 1982 (b) 1935
() 1949 (d) 1951
TAETETT TATTAT weeeeernrreeeeeennnne ey Al
(@) 1982 b) 1935
() 1949 (d) 1951
(v) Which one of the following is the problem of Indian agricultural credit
supply ?

(@) Insufficient supply of loan

(b) Problem of overdues

(¢c)  Defective co-operative system

(d) All of the above

Teieeh! YA FH Jaqesar Gl hIoet 2
(@ 3T &S GLEal

(b)  IHARIET Y

() E_IY HEh A

(d) TR wd
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(vi)

(vit)

(viii)

(ix)
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Which of the following is the reseaon for mobility of rural labour ?

(@) Lack of work (b) Lack of income source
(¢)  Drought (d) All of these

WICATCUh! IO TTHOT AR T SR HIOT 2

(@  hTHEN 9 (b) IO HCATE U

() g=hlxd (d) AT gd

Which of the following is necessary reseaon for the agricultural finance
for farmers.

(@) For productive purpose

(b)  For modernization purpose

() For agricultural development

(d) All of the above

WATUsh! IVl HROMAS! Taeh=a FHoifoxret Aavaehdl 3Wd ?
(@ SUGH HAHS

(b)  IMYfTehIHTOTHS!

() ot TasmmmEE

(d) eRieent wel

Find out the odd word :

(@) Seasonal prices (b) Input prices
(¢)  Short-term prices (d) Annual prices
foom vt SfesEn

(@ B fepe (b) FRETEA feRwd
(c) TcueRTe TR (d) aftier et
In India wage rate of agricultural labour is ............... .
(@) Less (b) High

(¢) Very high (d) Very less

P.T.O.
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HIATd }ﬂqq\y‘wm“ ST T e ?rTl%'
(@) 39 ®) =
(© a5 d) sIfg-se

(x) Which of the following benefits reap by agricultural sector due to
subsidies ?

(@)  Agriculture can be run under critical situation

(b)  Availability of cheap raw material to industries

(¢)  Opportunity for export of agricultural products

(d) All of the above.

WICATAUR! I AT Fo-SAA ST FHoiren fHesard 2
(@ wided 9RfEedd I =ees g Sad adl

(b) MY W& shedl A STAsH Bl

(¢) FH-A@ fFafde ae e
d) eadet ¥d
Theory

What is farming system ? Explain different types of farming system. 10
Tl THdl WUS HE 7 Tl Ygard {afoY GHER T A
Or
(fenam)

Explain non-institutional sources of agricultural credit in India.

ARAIA F Jaqiacar= fofR T¥aeTsh e T &
State the effect of globalization on Indian agriculture. 10
SRR ARG Feade aRoms |
Or
(fenam)
What are the problems of rural labour supply in India ?

ARANA U0 ATt $ifHeh Tayiecr=al §H&l hivel ?
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N.B. :
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Write short notes on (any two) : 10
@) Problems of small and marginal farmers.
(@) NABARD
(zi1)  Objectives of agricultural price policy in India.
@iv) Land reforms.

e fear faer (@ a)

@)

(i)
(zi1)
()

e[ oo faaa Sdh=arT THE
e
ARATA FE gqeo=] Ifggse

STHHA RO
OR
(feram)
(Economy of Maharashtra)

(1) Attempt All questions.
(it) All questions carry equal marks.

(i1zi) Wrong answers of MCQs will carry negative marks.

() W\ YT grean
(i) TE FIAA FAE O SR

(zi1) agqa’rq“r PRE I goh”lwl 3TAH  RUMCHS T[0T 3.

MCQ

Attempt the following multiple choice questions : 10

TTeiel Jgaart ged diean

@

According to the census of 2011 birth rate of Maharashtra
WAS cevreeeeeeeenieesieenieenanes .

(@) 17.6 b)) 15.6
) 192 d) 206
2011 =1 "H‘lulqj{‘ll{ ‘-I'él{lbq.lclr\l(d SR QY e TaehT B
(@ 17.6 ®) 15.6
() 192 d) 206

P.T.O.
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(i1)

(z1)

(@v)

()
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Which of the following crops is cash crop ?

(@) Jowar b) Sugarcane

(c) Wheat (d) Rice

Trefie faRtish! HIv o e die o 2

(@ v ®) 9

) g (d) Tigs

Which of the following airport is not an international airport ?
(@) Nagpur (b)  Pune

(e) Mumbai (d) Nanded
TeTish! iU foaMdes STAWSE Weare el 2

(@ TR ®

© R d) e
Jawaharlal Nehru Port Trust is located at .................. .
(@) Ratnagiri (b)  Sindhudurg
(e) Nhava-Sheva d) Raigad
SERE JeE Ul R e Iy IR,

(@ TR (b)  Teeg

(c)  RTE1-¥rel d) =TS

What is meant by Green Revolution ?

(@) Increase in the proportion of Unemployment
(b)  Increase in the production of Agriculture

() Changes in standard of living of farmers

(d) Green coloured revolution

g Il =S & ?
(@) SRR FHOMG Selel a6
(b) Tl IURA eIl 91

(¢c)  Sdh=Ir=al TBUIHMI e

(d) Teton = s
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(vi)

(vit)

(viii)

(ix)

(x)
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Who appoints the members of Statutory Development Board ?
(@) Governor (b) Chief Minister

(c) Prime Minister d) Finance Minister

i fasm Heera el gl & Ham 2

(@ oA b))  HEIEsh

(¢)  Uq9HH d) foesht

Per ..o, production is called as agricultural productivity.
(@) Acre b) Guntha

(c) Hectare (d)  None of these

AT eereererereere e IURA TSI HE IcqcRAT B

(@ TR ® T

(€) TR (d) AT AR

According to the census of 2011 sex ratio in Maharashtra was ........... .
(@) 942 b) 935

(c) 1035 d) 929

2011 =T \SH‘IUIQj){-II{ Hﬁl(lbdxldﬁl('l Eﬁ—‘\ibbl Rerei1) (RTINS T BN
(@) 942 b) 935

(c) 1035 d) 929

..................... components are included in communication.

(@) Telephone b) Post

(c) Internet (d)  All of these

Wm .................................... W W _E?'_Th

(@)  gLEat (b) U
) TR d) eerdent gl

Which of the following reasons is not responsible for the migration of
rural population ?

(@) Employment (b)  Trade
(e) Entertainment d) Education

P.T.O.
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T AR TABAUTS] WA hivd HRO Seeer ATl ?

(@ IR (b) =R
() =TI d) fago
Theory
Explain the causes of high birth rate in Maharashtra. 10
TERIIA Iod SHGY STHUIATH! R0l T .
Or
(fenam)

State the nature of cropping pattern in Maharashtra.

MERIEA Yieh To-d @& |rT.

Explain the causes of regional economic imbalance in Maharashtra. 10

TN URf¥Teh ST SToHdeTel $hRul ¥ .

Or
(fenam)

Explain New Industrial Policy of 2013 of Maharashtra.

TERTSITe Afoq Siicelfileh &R0 2013 T
Write short notes (any two) : 10

@)
(73
(u1)
@)

Sex Ratio
Urbanization
Green Revolution

Problems of rail transport.

dega four faer (e @)

@)
(i)
(i)
()

H-ges g
AR
FEGEARIE

N W faY
(o ATReh <A1 HHE.

R—421/422—2016 8



